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 Student’s Book  
 

 str.40, cv.2 

1 T 

2 F The bear ran off in to the forest. 

3 F Buddy rescued his owner. 

4 F Mrs Smith found the scorpion on the kitchen table. 

5 F Mr Smith caught the scorpion. 

 

 str.40, cv.3 

ran off – d 

luckily – f 

sign – a 

came to the rescue of – b 

recovering – c 

panic - e 

 

 odpovědi na otázky 

1 Alexander Graham Bell 

2 Penny Black, in Britain on 1 May 1840, for official use from 6 May of that year 

3 he developed a single-wire telegraph system based on European telegraphs 

and co-invented the Morse code 

4 Bill Gates 

5 Martin Cooper, in 1973 

6 Sputnik 1, October 4, 1957 

 

 

 

          A.G.Bell 

 



 

 Workbook 
 

 str.29, cv.1 

1 problem pages 

2 soap operas 

3 editorial 

4 horoscopes 

5 headlines 

6 forums 

7 forecast 

9 sitcoms 

 

 

 str.29, cv.2 

1 recovering 

2 panic 

3 rescue 

4 ran 

5 sign 

6 saved 

7 catch 
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